61.1

1)  List the factors of 24

2)  Write in figures twelve thousand, three hundred and four units

3) Workout402 x 100

4) Simplifyg

5)  Find 75% of £220



61.2
1)  Round 4309 to the nearest 10

2)  Workout 345 X 6

3) Simplify 4x + 3x + 2y — 2x

4)  Work out 3854 + 76019

5) Workout1l0—2Xx4+6



61.3 [=] 7 [u]

1)  Write in figures: twenty thousand, five tens and nine units =

2) List the factors of 40

3) Workout 100 x 384

4) Simplifyg

5)  Find 25% of £664



61.4
1)  Round 7654 to the nearest 10

2) Workout113 X6

3) Simplify3a+b—5a+ 2b

4)  Work out 6528 + 26109

5) Workout3 x4 —2x%X5



61.5 OR=a0
1)  Write in figures: six thousand, five hundreds and four units %%

2)  List the factors of 60

3) Workout123 X 100

4) Simplify%

5) Find 75% of £760



61.6
1)  Round 3456 to the nearest 100

2)  Workout432 X 8

3) Simplifyx —y + 2x — 3y

4)  Work out 725 + 82608

5) Workout9 x4 —-3+5



62.1

2 1
1)  Work out s + <

2) Workout 5030 = 100

3) Complete 350mm = .............. cm

4)  Write in figures two hundreds, six units and three hundredths

5)  Find the missing number? =5 =10



62.2
1)  Workout 17325 — 3654

2

. .5
2) Complete the equivalent fraction 5= e

3) Complete using<,= or>

5 ? 9

4)  Work out 60 X 500

11 .
5)  Express S asa mixed number



62.3

1)  Work out 3 + E
7 7

2)  Workout 456 = 10

3) Complete35m=.............. cm

4)  Write in figures two tens, six tenths and two hundredths

5)  Find the missing number ? +-3 =12



62.4
1)

2)

3)

4)

5)

Work out 30526 — 4263

. . 3
Complete the equivalent fraction "

Complete using<,= or>

-8 ? -3

Work out 30 x 30

7 .
Express S asa mixed number



62.5

1)  Work out z + 3
8 8

2)  Workout1234 + 100

3) Complete 65cm = .............. m

4)  Write in figures three tens, four tenths and five thousandths

5)  Find the missing number ? -5 = 20



62.6
1)

2)

3)

4)

5)

Work out 29302 — 4567

2

. . 3 .
Complete the equivalent fraction - = —
4 120

Complete using<,= or>

-18 ?  -19

Work out 50 X 60

17 .
Express —asa mixed number



63.1

1)  Workout 716 X 15

2)  Find the highest common factor of 36 and 45

3) Workout 2 + z
39

4)  Round 2345 to the nearest 10

5) Express 0.05 as a percentage



63.2
1)  Find 25% of £136

2) Complete using > or <

476381 ? 476471

3) Work out the value of 3x + 4 whenx =5

4)  Work out 35000 = 70

5)  Express 2 i as an improper fraction



63.3
1)

2)

3)

4)

5)

Work out 823 X 15

Find the highest common factor of 32 and 56

3 4
Work out < + s

Round 2651 to the nearest 100

Express 6% as a fraction in its lowest form



63.4
1)  Find 25% of £268

2) Complete using > or <

3567.8 ? 35641

3) Work out the value of 20 — 4x when x = 3

4)  Work out 24000 = 800

5)  Express 4% as an improper fraction



63.5
1)

2)

3)

4)

5)

Work out 32 X 733 Ok

Find the highest common factor of 36 and 28

7

5
Work out - — —
6 12

Round 3248 to the nearest 100

Express 0.7 as a percentage



63.6
1)  Find 25% of £440

2) Complete using > or <

2438.3 ? 2437.92

3) Work out the value of 35 — 3a whena =1

4)  Work out 30000 = 60

5)  Express 2 % as an improper fraction



64.1
1)

2)

3)

4)

5)

Find the lowest common multiple of 33 and 44

Workout 12 —2 X 3

Work out 738 = 9

Find the next two terms of the sequence 67, 61, 55, 49, .....

Find 5% of 420




64.2

1)  Write down the value of the figure 6 in 36034

. .15 .
2)  Express the improper fraction S asa mixed number

3)  Simplify the ratio 30 : 42

4) Workout 8.4 x 100

5) Complete using < or >

s, 4
6 5



64.3 [=]7>1 [m]
1)  Find the lowest common multiple of 24 and 30 g ]

2) Workout4x6—3X%X3
3) Workout 208 =~ 8
4)  Find the next two terms of the sequence 34, 41, 48, 55, .....

5) Find 20% of €370



64.4
1)

2)

3)

4)

5)

[=] ket [m]
Write down the value of the figure 4 in 4567 =] '

. .20 :
Express the improper fraction S asa mixed number

Simplify the ratio 28 : 42

Work out 100 x 42.3

Complete using < or >

2 4

8 ' 10



64.5
1)

2)

3)

4)

5)

Find the lowest common multiple of 24 and 40

Workout10—3 X2+ 6

Work out 168 =~ 7

Find the next two terms of the sequence 57, 51, 45, 39,

Find 30% of $620

EIEEE

-l':'E

[ ™



64.6 E%E
1)  Write down the value of the figure 3 in 234567 [= :

. .19 .
2)  Express the improper fraction —asa mixed number

3) Simplify the ratio 48 : 18

4)  Work out 38.2 X 100

5) Complete using <, = or >

s, U
6 20



65.1 [=] 3 [=]

1)  Write in figures: two thousand, three hundred and four tenths 5]

2)  Workout 4 X g

3) Workout83 +5

4) Divide £30intheratiol:5

5)  Round 190.037 correct to 1 decimal place



65.2
1)  Work out 23.4 + 1000

2) Complete using the symbols< = or >

13
20

?  0.56

3) Complete: 5 minutes =

4) Workout21x1.4

5)  Work out>+ 21
4 5

seconds



65.3 [=]7ed [=]

1)  Write in figures: two hundred, five units and six hundredths ]

2)  Workout5 X ;

3) Workout94 =8

4)  Divide £40 in the ratio 5: 3

5) Round 263.962 correct to 1 decimal place



65.4
1)  Work out 5.43 + 1000

2) Complete using the symbols< = or >

4% ? 0.3

3) Complete: ... minutes = 300 seconds

4) Workout3.2x17

5)  Work out35+E
6 4



65.5

1)  Write in figures: nine thousand, six units and three tenths

2)  Workout 3 X %

3) Workout132 +5

4) Divide £36intheratio2:7

5) Round 43.4486 correct to 1 decimal place



65.6
1)

2)

3)

4)

5)

Work out 0.35 + 100

Complete using the symbols< = or >

2 2 01
25
Complete: ......... minutes = 330 seconds

Work out 46 x 4.5

Work outE + 5l
8 6



66.1
1)

2)

3)

4)

5)

Complete .......... minutes = 3.5 hours

Work out 32 + 6=
5 10

Solvex X4 =12

Work out 23.4 x 8

Find 35% of £60



66.2
1)  Work out 56.78 x 10

2) Complete (with< = or > ) 2.46km ........ 375m

I
o
-
v
o
w
N
o
~

3) Complete using <

4)  List the factors of 23

5

5) Work out 2 %
776



66.3

1) Complete. .......... seconds = 2.5 minutes

2)  Workout22 + 3~
3 10

3) Solvex+4=12

4) Workout61.9x6

5) Find 85% of £60



66.4
1)  Work out 32.14 x 1000

2) Complete (with< = or > ) 613g........ 5.52kg

or > 0.949 ......... 0.95

3) Complete using <

4)  List the factors of 45

5) Work out zx 7



66.5

1) Complete. .......... seconds = 2 hours

2)  Work out 6Z+ 7%

3) Solvex—7=12

4)  Workout7x5.3

5) Find 35% of £620



66.6
1)

2)

3)

4)

5)

Work out 3.7 x 1000

Complete (with< = or > ) 56km

Complete using <

List the factors of 16

5 3
Work out = X -
6 4

or > 0.0974 ..........

0.1
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